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SUBTRACTIONS

Solve by using take from ten strategy using number bond.

1)  Mary has 13 cupcakes. She ate 4 cupcakes. How many cupcakes are left with                                                                                                                                             

     Mary?

__ cupcakes are left with Mary.

13 - 4 = __.

2)  Anthony has 12 toys. 4 toys are aeroplanes and the remaining are cars. How                                                                                                                                              

     many car toys Anthony have?

12 - 4 = __.

3)  Oliva bought 12 lollipops. She gave 6 lollipops to her friends. How many lollipops                                                                                                                                        

     are left with Oliva?

__ lollipops are left with Olea.

12 - 6 = __.

4)  Marcus kept 12 apples on the table. His father took 8 apples and kept in a 

     basket. How many apples are left on the table?

__ apple are left on the table.

12 - 8 = __.


